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1) In computer system, What is Trojan horse?

T : Malware & UF (3K 2RIPOGIA (0K software 0T FERBTR I1 ARGIRH Fio
PICO Malware Virus, torjon, horse, spyware, adware

2) Class C IP address is for — bit network.

1) 8.0

2) 30.0
v 3)24.0

4) 16.0

A 2 In class A, 24 bits are reserved for host id and 8 bits are reserved for
network id.

In class B, 16 bits are reserved for host id and 16 bits are reserved for
network id.

In class C, 8 bits are reserved for host id and 24 bits are reserved for network
id.

3) Which one is the first search engine?

1) WAIS

v 2) Archic
3) Google
4) Alta vista

I : Search engine Archic Archieves.[ The first search engine is generally
considered to be Archie. Archie was created in 1990 by Alan Emtage, a
student at McGill University in Montreal, Canada. It was designed to index
and search for file names on anonymous FTP (File Transfer Protocol) sites.
While Archie was not a traditional web search engine, it laid the foundation
for the development of search engines that would later index and search
web pages.]



WBT Y»»o S 2 5Te] F11 2 | WR\S g Tdferd google, yahoo, bing 39nf|

4) A— translates file of program source code into machine language.

1) Decoding
2) Cluster

3) Datagram
v 4) Compiler

AT : AR SRS RETf57L CATSITH | QBT QT ST (@127 (ATSTHP (X O o3
IE |

A programming compiler is a software tool that translates source code
written in a high-level programming language into a lower-level language
(often machine code or bytecode) that can be executed directly by a
computer. The process of compilation involves several steps, including lexical
analysis, syntax analysis, semantic analysis, code generation, and
optimization.

The main purpose of a compiler is to convert human-readable source code
into machine-readable instructions that can be understood and executed by
a computer's hardware. This allows programmers to write programs in
higher-level languages that are more expressive and easier to understand
than machine code.

Compilers are essential in the software development process as they enable
the translation of source code into executable programs. Some well-known
programming compilers include GCC (GNU Compiler Collection), Clang,
Microsoft Visual C++, and Java Compiler (javac) for the Java programming
language.

5) Flat file database are most useful for

1
2
v 3
4

Banking

Chain stores
small-group situation
Large scale users

~— N N

I : Flat file database relational database A3 89 A AfSF GRe A1 FTd 4R
PACO AT d1| I3 AGT (Z16 559 U7 CHA Ol IS P |



6) The job of is to translate the array of dots into text.

AN : OCR (Optical Character Reader) U3 €3 Scanner 1 T B T ABAD
(BT FAT I |

7) In a spreadsheet can help you make sense of a worksheet contents.

1
v 2
3
4

formula
labels
macros
value

N— N N N

TN : Spreadsheet program A label Z&T P61 GHAT IO TIGT HK I1 AT el 0T
391 IR | (A3 TAF Q0T chart & A1 W Y label @ 516 F°o(F AORS RN 6T |

8) Which one of the following protocols is used for receiving e-mails?

A : Email receiveing 4 pop3 sat JKRAK P11 Email < AR CFCa SMTP a1
Simple Mail Transfer Protocol <29 |

9) Open System Intercommunication (OST) Model has— layers.
1)4
2)9
3)8
v 4)7

14T : 0S|I model Networking system TS 39d1 ¥ | 3 7 b @R oz | 93018
Physical Layer, datalink layer, network layer, transport layer, session layer,
presentation layer and the application layer.

10) Which one is the modifier key of the keyboard?
v 1) Shift



2) Esc
3) Backspace
4) F4

TN ; Shift, Alt, contrast command ISE T FIRTS Q3 TROPRK key

11) Where is the Boot Strapping Program stored?
v 1) ROM
2) Hard Disk
3) RAM
4) CD

AT : FPRBTR U3 Basic software @8 BIOS, Firewall etc Read Only Memory
ROM 4 AF | B13 Boot Strapping Program JAMIKTO ROM @ AT |

12) Object code is the language file that tells the CPU what to do.

1
2
v 3
4

binary
natural
machine
programming

~— N N

AN : Machine Language lower level language T 0 and 1 99 $°R fofs 3 I
3 | Object code SHRTO cpu @ P IR0 X O [d00T | |

13) What is the meaning of the idiom “in doldrums" ?

1) bright

2) distinct

3) delighted
v 4) gloomy

AN : In doldrums O §d TRTeR 1 [g<To1 | R Gloomy @ §<d | 58 Bright rf
AT ; 2P Distinct O 9)3@ ; T07 18| Delighted O @[ 1 416 21997

14) Although he never learns to read, his exceptional memory and enquiring
mind eventually made him a very man.

1) Dedicated
v 2) Erudite

3) Pragmatic

4) Benevolent

)
)
)
)



AT 1 PFOISAT ZTONS (@ CIT AR, ST I1T 5T TS 297 I, TR QFT0 SARAT AT a3
IR | 2AACH I . T, CF 20 P 11 9L OR foFagd X \3 TIgsifaes] 59 O
Talal IO | QT STl 293 T Erudite 2 5139 97| 9K Dedicated T a2 IS
faaf&o aFd| Benevolent S @S IPragmatic ¥ I3 |

IR Y3 M3 G DA 0T FY AT, O O Fforal FRoXies \3 g es] O &ldl 19
SIRRYY PR |

15) Who is the author of the novel 'Heart of Darkness' ?

1) Ralph Ellison

2) Earnest Hemingway
v 3) Joseph Conrad

4) Peter Carey

TN : Joseph Conrad (Sb¢Q (GF Y»38) W HT0y FHSE &8 Lord Jim, Nostromo,
The Rescue, The Arrow of Gold, The Rover 39|

16) "A person habitually silent or talking little' is called:

v 1) Taciturn
2) Servile
3) Unequivocal
4) Synoptic

AT : Taciturn S TTeR! 15| 53 Servile WY FG S| Unequivocal Q=8|
Synoptic WY 5 Apes|

17) Which one of the following words is an odd to the others?

1) Joey
2) Filly
v 3) Vixen
4) Calf

AT : Joey O M1 PIETP | Filly 0L 61 (10T | Calf (g1 | Q01 2@ 161 769 Vixen
(J57TeT) T Feminine Gender.

18) Antonym of 'Vilify' is

v 1) Commend
2) Pray
3) Admonish
4) Worship



AN : Vilify O FTS@ WoR™ (3T Commend TR 2P 3411 Admonish @Y o3 )
31| Pray O a1(dl 311 Worship Y 7S ; GRCET 1 57IER A Xaiiamd |

19) CIERAT (T T ©OET?

v 1) Q0|
)
)
)

N

N
S
3) G
4) fo1fq Rsme
AT = 0T AT QPTIR QPTD ATSTOTTERP O | QU WS [ASU o Ao’ G4l

ORI ‘B 3YeT 1 TG GI5TEd CPT AlCH GIR | QUTd XRAb ACKE 1% 0 1 @-B U’ (WP T/
WY T ST | QU ATSHTA! \3 J2GH X127 f=9y |

20) How many bit addresses of IPv6 version?

I = Internet Protocol @%ml IPV-4 and IPV 6. IPV-4 <11 32 bit and IPV-6 21
128 bits. IPV-4 1 ST (ST a¥K I]RTR | IPV 6 9 GG HES R IR0 |
DT b/8 ITST AT | ATHIP 15T 16 bit IR AT |

21) xy ERIHA FEPATY = 2x + 3 9 @UTAM (e,- ¢) EURFF 743 T (51 97 /I FO?

v 1)-6.0
2) -3.0
3) 2.0
4) 3.0

AT 2 CUSTTTE, X (@) TR ¢ 97 ST 2 1L
y = (-1/2)x+3 SAPIAR OI, y = -¢ IJ|
e - ¢ = (-1/2)x+3

= ¢ = x/2 - 3 [-3 TR Q9]

=>Cc=c¢/2-3
=C-c/2=-3
=Cc/2 =-3

LC=-6



22) IR STAD @1 A1 VIR ORBE0?
1) FYARS

)

) PR
S)TW
v 4)ABR

TN : IPRIL CPIRA AR a1 s | aft @t 73 J1ed <[ <fsmr an <uf | soneisicas

TR AT INGT (WP BTG T IREA AT B 1301 Row 207 | PRI Fgafors
&z, WORID 5 (5102 @IOITIMOT SATTER e |

23) Which one is TRUE for RFID?

v 1) Uses electromagnetic signal
2) Uses laser beam
3) Uses optical signal
4) Uses infrared

4T : RFID (Radio Frequency ldentification) Electronic signal J5<92< 9 87 S
PG DI FIRIFTCIR XTARG FACT UL FIP PACO IR0 |

24) 710 SR STPE H,@ 0 | AT F0 573, HY X 511D, $O7?

T = ST G, 70 FLATK SR = TS X 51D
= dCVY = Y X .13

= ST = Y5CVY/HY = dY

25) Which one is an entity?

1) Department ID
v 2) Student

3) Passport No.

4) Roll No

AN : Entity IO ERT BIBIECS class I SISISEIP T | 5701 student 7T entity
Q™1 Roll no passport, Department ID Q3T X entity student attributes.



26) “1AJICo @19 IR A FARTCOI s STl 2 ?

AT 2 3D FIE R g Maia svam
R0 GT5R AR 3 MIRfa st

27) "0 IRATTCR TRETE GPIAR?

AT ; TN O T TNGEAR P13 T Ob-bbre (TR 20 WG 2050 FAICE) TICPT I T
WIS TR ATG THCH1 fRS TP ITIR (AP ARSI 218 QTP TG qeaee T’
& SRR ZIET

28) Which operation does F1 key perform for all types of applications?

1) Save

2) File open
v 3) Help
4) Windows shut down

T : FRROOIR FIETE FI ... F12 SRCAT SR O T1209a It U1 |

29) All programming language require users to follow certain rules of

1) style

v 2) syntax
3) grammar
4) procedures

T : AT Programming language a3 faft@ g Syntax A | QST WGsKI
AT Program {19 P 41, Error G |



30) Viruses that take up residence in the computer's memory and making
hard to detect is called:

1
2
v 3
4

Chester Virus

Self- Encrypting virus
Stealth Virus

Macro Virus

~— N N S

I : Stealth Virus S 520S [RfGT Anti-virus software 208 ATE 30O I a7 |
awam«rﬁ@wﬁ—m I |

31) Which one is not part of learning phase of machine learning?

1
2
v 3
4

) Collect data

) Training data

) Algorithm

) Model

I : Learning phase I¢C0 WK1 data (@ $4CO train @ 3K algorithm, model WP
2 O I[N | 57912 train data G3FE &R W learning phase dl

32) Which of the following language does not need any translation ?

vl
2
3
4

Machine Language
Assembly Language
3GL

4GL

N— N N N

AN : FEARBOR BY 0 (<) W3R S (UF) AT AN | TR A3 0 \3 > T @1 SR @RI Sl
(Machine Language) 3Ce1| SRRETIR fasm Gt 31 cnfers el 52 (&R S | @R
TR SR IG FRGT 202 FERBTIRR S SRR QSIS BT A | AR @R SR @G0T
censiTs e Sl TRRICR 2AATSA W J1 | T3 TGP (AT ACITS al AP TS fo1z2 27 |

33) In a plasma display, gas is electrified by grid of

1
2
v 3
4

electronics
phosphors
electron

electrodes

S~— N N N

AT ; ST FE3XH QT ([ PIo S &5 | Plasma Display SIIARSG SIS IR
PR IS AEAPLCAR -T2 T |



34) G310 (IATRG RFPA AR ¢ % GHPTST (| A % FEHPISTT O ¢ TP 1% 2|
(TGRS TITPT FoT O G112

AT : 4R (TGRS0 BIfcTRT F7 X TP

QAT ¢ % FEHPTGT T IETPT FEAR D¢ % 1 RFT | TR a % RGPS T T BTt W =
(500-9) % = O % A K|

PTG, X 93 DE % - X 97 DO % = d¢

= DEX/00 - DVX[>00 =S¢

= (PEX - POX)/00 = ¢

= X = ),k000

S X = ),0000/R

= QGO TT<A

35) AT CT AT T 5 SO 2R R S ST SRR e 73 @l
(AT SRS 27

AN : GERTY ARG EIRPIIER AREAHCR SFI LA BCUICSR FPs B s o1
AT SROHTR ST ARG 2T IR O 7§ A1 PR K G PEA 205¢ FE |
ST, G AT TG0 WBSIGP P \3 2RFTRS TROT (b GLBH, 05%) TIosg FIgy
ORRIER (BBARr) 2PF (U TR ALTAHG! CT B BRI O/ FeTst (Sreetoitas
T YU FRITR GG T AR | 10 GG, 205 S HFMIT FHFDS IRATTOR STEAGK
TN AT CT AT "SI T SRR Az, @RI SIS T S oK Td J3e
BfFSaREd (GFafeami) Su GLTTH, 205 S T, FTEATH (SRS ATGd 296 T « 1. &
SRS FTEAT U7 W) YRS STRATIAT AR TG -205» WS IR AL T
AT | QTS 3500 RN (@9F AR QIR SRR AR A \3 i SIaReoR S
AL WRf AT FTRATPIAT TIDSCHT THIIATG UL 05 GRS FEHID 9 TS T
TGN 5129 A |

36) Which one is not contained in MICR code?

1) Account Number



2) Bank Code
3) Cheque Number
v 4) Country Codeans

4 : Magnetic Inc Character Reader TRGO 21 3f9<1R account number QaceT
MICR @ Ut | Country Code AP dT|

37) Which one is the first 64-bit operating system?

1
2
v 3
4

Windows vista
Mac

Linux
Windows XPq

~— N N

MM : Linux Open source operating system. db7 User (TG 5T 3G IRZR PICO
A | OB AU 64 bit operating system. Windows vist, windows xp 32 bit
operating system.

38) 70 SRATK QTP S0 AR BICH I AT b | HRATIR T 397?

14T : 4f}, QBT FAM x I WORID y

I, Xy = 120 ........ (i)
x2+y2=289..... (ii)
STAIRPACT (if) 9 Q9 Y 2xy Q5 I
X? +y? =289

= (X+y)?+2xy=289

= (x+y)? = 289 + (2x120)
=289+ 240 = 529 = (x+Yy)? = 529
S x+y =v529 = 23

39) v¢o TR AT b Gd 8¢o TG AT AbPH 20 RIS AGFH I | GAlvd S1ost IO
PO RPCENTAGR?



AT = GG AROFT3 719 = (150+450)m = 600m
WRoF T3 SR = 20 seconds.

. T’ 5155 = 600/20 ms™t

=30 ms!

= (30%18)/5 ms?

=108ms!

40) In a computer, folder opening is denied by which of the following
name's?

1) can

2) com
v 3) mak

4) make

T : Y4 (@19 Folder (I Mak remove 2 IR ©d Folder 13 A& AM3T IR 7|
PTBRID (00 T 3P0 IR o =

41) — is natural language statements that look like programming code

1
2
v 3
4

Source code
Object code
Pseudo code
IPO chart

~— N N S

INAT : Pseudo' I fHATT | BT MR (PI0GS T T (ATATHRL Aeisiiine fRoazd 91 SaTo $IR
Tl INTO A |

42) Which one is the part of software vulnerability?

1) Passing internal information by employees
v 2) Hidden bugs

3) Radiation of Transmission line

4) Lack of user's knowledge

I 2 STPO\STITK 2T FOSCAT (ATSTH T (AT ST T IRE SR IFF I ATF TP
LT IRIIPRNCE PIRS PATP 2MTd I | WK LS W20 B 02 157 | PSR
IM T TP R AT (AT A AP G BILE JACS A L3I 15T (AT |

43) Which programming language is used extensively for Artificial
Intelligence (Al)?

1)C



2) Java
3) J2EE
v 4) Prolog

4 : Prolog Logical programming language Artificial Intelligence
Computational linguistics Q J<RAL T A |

44) The study of the way people work with tools is called:

1
2
v 3
4

debugging
programming
ergonomics
kinetics

~— N N

AT : DT PG FEARBTR A3 HIY TF X TR 0T fd@ Ergonomics Wbl I |
@IS FIE TR [FPOIR I7X, TR P #RE0CT 16 IR 6T fa ST d I |

45) Which one is not unary operation in relational algebra?
1) Select
2) Project
v 3) Union
4) Rename

AT : Unary Operation S¢E@ Q301 relation U< B[ I 3 | Select project QST
Unary Operation . Binary relation 56T column 31 row @ 1% & | Union
difference, Cartesian product Q& binary operation 1. BB X W ).

46) 3020-3> WARRH ICST AR PO IS0 2

YT : 030 FEH 85 T (Yp»Y (AT Y S S T TSP ICTHHR GG ¢o OF)
ISR WPH ¢ TFF Vb TSR @0 01T | ISP BaTd FHSOCO I 2,0€,58¢ (T BT |
fSTGToR 2] PHIAIAT b2 % QIR FAPRING €.8 % BE, (T e WY I2RI ST AR
A FZHREP ARG A0 | ICSH TREAZI S TR (AP 00 T |

47) Market based analysis is part of:

1) Classification



2) Regression
3) Clustering
v 4) Association

TN : Market Basket Analysis 3 9| a9 Affinity Analysis. afb Association acas
AR | 7R TRT SO (FOIR P FdReol 3991 FCo Market Basket Analysis
IR A1 | BATAY I IeT TR TYF @1 (F0l SMGF I T I GUd O TRA3 Jelly T
T AR AT A |

48) Af5azd Py ST Mt “NfeTs 20 @1 O1fkee?

MY ; OIS M3t 24T I27 0> @& RRISCG #I1e7d P41 20 | Y Y 5B ST T2 ddba
S [eg oraregS s 516 9 |

49) If log,t4* = 4 then find value of x

IT « (O\SRAT A, |ngl44 =4

= x* =144
= (X2)2 — 122
= x2 =12

X =V12 =V(3x4) = 2V3

50) A bar code reader emits

AT 2 IR (PTG SRS (TP IR AT 2 | - AT IR I N AT 1 Fe faed et -1
|



51) Which of the following contains configuration information of a Windows?

I = inl TR 367 DRIBTH NPT OTIIRL IARPSIIRE 13T U1 (GHT @G FIASTK T 51 |
@dd¢ ms dos. INI, windows 10. Inl.

52) Which type of following error's is generated when the program is being
executed?

1) Syntax error
2) Semantic error
v 3) Run-time error
4) Linker error

AN : 9PTT Programme 3K ST O 4G error X Syntex error, logical error and
run time error. Programme - 23¥K i< BYAT@ Run time error 290 A |

53) In computers, why is Firewall used?

1
2
v 3
4

Securing the computers
Data Transmission
Authentication
Monitoring

N— N N N

JM4T : Firewall Authentication Securtiy A3 Gy IR200 2 | GGT RGO ROM 9 AP |

54) logs625 =9 ?
1)1
2) 2
3)3

v 4)4.0

AT : (SAT AT, 1095625 = 109554 = 4logs5 = 4 x1 =4

55) Which one is is the first high-level programming language?

1)C
2) COBOL
v 3) FORTRAN



4) C++

AT+ FRASTIR (ATNAR Q 73 YA O] ANE | (T GO TSNS A3 213 ESH
IRBAS | Machine Language, Assembly Language low level language. Fortan,
C, C ++ xava, SQL, visual High level language. Fortan 2= 434 high level
language

56) Q3T BHeTER \3 UFD ICFR EHR AT QI ARG T4 | TSR ST \3 @6
THOR TG 35?2

I : ¢f}, BifToR 3 JoRPR @B Y
PIfCTER \3 JOIPR EIHR BT TAFCE X IR Y
WA ST, PACTGIRA Wod = nir2h 96435
UL JOIPK BTH AR = 5/0 1ir2h T4a3d
2PIHC, ir2h = >0 nr2h

= Tir2x = >/ nr2y

= X=y/O
= X/y = 5/0
SoXy =580

57) IR AT PRI TN TATG 2 P?

1) Y B, 00
2) 4 dIb, 00
v 3) b FIb, 00

4) >q FIb, 00

AT : JIREANHCT AYF I SIBATH SATG 2 b JIB, 2020 HNE QR AT F@F 2 dbr TG, 2030
SIS | PRI SIRATS IO SRR A3 i @RI @S Sarend eandt a7 o
WIFTS I | PR SIRATH St T2 AR B2 XA 0 FGGTR, 205 e o YT e 1
2 | WK SR IR PRI GIRFAIGR AV FETT SIS TR ABACS | T 757 53T DS /1B, 2030
IR SIS T CQEAN IR

58) IR FREYa WLHIRRPII A1 FRETTa] oS ?

1) ¢a0 &d
2) 8¢o Gd



3) voq Td
v 4) 005 Gd

T : FREATER PR MG IR S AT 00 T | By, Fegea 1o a1 ¢ I 26
T ORTEA R (5 9 GT3) U3 GTORT QST (X A (5139) | R SJATSSICER AT Sofeniod
I1red [ (¢ 9 G1F) FEYra T QR Gy ‘FReEID' i #1fkfbo |

59) Programmers begin roughly cut the logic they will use in the stage — of
software SDLC.

vl
2
3
4

Design
Development
Implementation
Testing

S— N N N

T - Stages of SDLC

Requirement collection and analysis
Feasibility study

Design

Coding

Testing

Installation/Deployment
Maintenance

60) If the radius of a circle is decreased by 20 % then the area is decreased
by:

1

2

v 3

4

20 %
30 %
36 %

)
)
)
) 40 %

AT : AT S, CFawet I 1= 55a
= (A + B (AB/100) ) % = (-20-20+ ((-20x-20)/100))%
= (-40 + 4)% = -36% [(-) 1 “MGAT]

61) Which one is the 7th Generation's Intel processor?

1) Intel Core™17-9850HL
v 2) Intel Core ™ {5-7200U
3) Intel Core ™ i5-9400H
4) Intel Core™i9-10900K

N— N N N



AT : Core i5 processors I X1 i5-7600k, intel F5-2500 25000
5200017220011

62) PRTAT SIS AT B (ST FA ARSI A TFALE (T TBRTSY bIcad RPTa e
IRR?

v 1

W N

) Ricont

) fAe3s

) PITACP I
) AT T

N

AT 1 T SIRATS SRFHT fA BT T (IR ARSI THINE FeniR worTey [ew s
(TR STIC LSRR WIRSCTT5T Wz 51t RPCa | 1 Sk, 56151 \3 iafod HRooR-eT
SIS AT 93 HTHER |

63) The newest version of HTML is:

AN : Hyper Text Markup Language (HTML) S4RTS 31 fG13fAR 9 CHa IR
31 | QO d9d ©Istd 29 HTML5. #RO! Srsfaee HTML 4.01, HTML 1, HTML9.0

64) Voo FATIBIRR fRICT YR % TR AR, TM A7 FIY 00 AT “M1fet fapericar 20 apd
R SRR <A1 T© *XTaT18X7?

v 1)a3%
2)a.¢ %
3)ud %
4) Yb %
ATAT = Voo FAAIBIRR foRICeT eI R = V00 UF S % = V00 x S3/500 = VY HRITTH
=~ P et o0 FRfAATR <nfa fepeet b fadar I = 200 + Voo = ¢oo TR
W6 394 fRICT eRCR AREIT = ((0W/@00)x 500)% = A.3%

65) Which factor is not affecting the processing speed of a computer system?

1) Cache memory
2) Clock Speed
v 3) Monitor

4) RA



14T : Cache memory, Clock Speed, RAM RO Processor A3 515t aer GoeeT |
Processor A3 Y SA6ER (@Td 37°0R6 @3

66) She exhibited remarkable sangfroid during the crisis. The underlined
word means:

1) Temper

2) Imitation
v 3) Composure
4) Anger

NN : Sangfroid TR RIPICR ST F1AR 6 91 Afkbetar | d51F Best replace 31 I
Composure (431 QT[T 91| 7Pg Temper WY FIABRe SRE A1 (ens | Imitation
WY TGN Anger TS|

67) Find the correctly spelt word

1
2
v 3
4

Sacrlegeous
Sacriligious

Sacrilegious
Sacreligious

~— N N S

AN : Sacrilegious WY RA AFE TTATPHT LHATROTLT |

68) The process of making object code from one system work on another
type of system is called:

1) Porting
2) Designing
3) Developing
v 4) Coding

AN : Coding WX FIHKH TRIGE @G, AP B0 (AP Ay BIC0d @1 I |

69) Synonym of 'Exonerate’ is:

1) Consume

v 2) Absolve
3) Mitigate

4) Engage

T : Exonerate WY (ARSTs1 200) Yo 1\3¥T| Consume O @R 11 <11 11 Absolve
o Tge 11 Mitigate TGP0 3111 Engage O facst &



70) Which word does NOT match with other words?

1
2
v 3
4

Pharynx
Bronchiole
Auricle
Alveoli

~— N N S

AN = QAT Auricle T IR g Pharynx T sRe , Bronchiole X Tt
TS ; Alveoli T PTPER I | A3 fGaTD =3 THIGCE I TN FT |

71) 93T 1] PR B2 it RIRR [ #nefofba apfier @2

TR : FAGATY SRR (2T (26 FROR FLPeTd G- qTH "piepr | GB 510 0 PROK arF
'q3ft FIRR R 76 T A13AM @ g |

72) 1T RS IR T U072

) 70
2) bRID
)

)

—

3) #1510
v 4) SToi0

AT : AR A TR 1 @Nfere warfa 77 4 6 (@,am, 3, 8, @, @, \3) | Beay, cifsre
TR 2 T (&, 3) 93 IR FRC S 6 (W, T, 3, 7, T, B, 4,3,9,\3,\3)

73) ‘a7 RO 2 @1ain?

1) Jfa

) IFag

) JraeraT
) 3=

1A = R Jfade 3 [Rews 2@ . 3@ 8 e

A
A W N

74) ATy ¥ R0 <% @10 ?

1) Gty
2) O



v 3)3IF
4) =13

T 2 AGY TS I 9110 7= 707 | ¥ 07 Ro1o 1 o |

T 2 FEOA (Vowel Harmony) : a3fh ARKIH 2SI <1t QPR & ARG T6T I
IS AT BHOISATE] A0 | T3 GRrs ¥, Frets B, 3ets oo, @mens gean, s &,
o> o |

T : RS Ry e sced- goiim
R 2oz ab e Ta- Wt

R ST FRPAT TCAd- ([ARPAT
RIfq gRoa sifoe- e |

R g Sicad- o

R I I RS- TP
ot R wftoes Rifd- 3Rogmsiaar

77) Morphology'ad ST T oo 277

1) Widog
v 2) oG
3) IPTOQ
4) TG

14T : Phonology - ®fdog
Morphology - *Fog
Semantics - LG
Syntax - IRPTOG T P
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